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Fff 3% 1:

heilbron.cpp

1 #include <bits/stdct++.h>

2 using namespace std;

o const double pi=3.14159265358979323;
4 ARt o sart(12) / oi):
5 cons

6 int nj

7 double a;

8

9 double g(double x)
r

1
11T double x1=pi / (sqrt(12*x)-2);
}

12 return 2¥*x1-x1*x1*x1/3;

23

14

15 int main() {

16 for (int i-1000¢;i<=10899;i++)

17 {

18 double x=pi / (sqrt(12*i)-2); /*double np=pi t +24
19 a=((1-2%*sin(x))*(2*np-np*np*np 24 1
20 +. (4

21 if a=0

22 cout<<i<<” "<<a<<” 2¥%sin(x)<<" "<<(1-2%sin(x))*g(1i-sqrt(12%i)+2)

23 cout<<i<<" "<<g(i)-(1-2*sin(x))*g(i-sqrt(12*i)+2)<<" "<<1.80 / i<<endl;
24 }

25 return @;

26 }

Fe BT 1 M, g(n)-(1-2sin ﬁ)g(”—\/lzn +2) i, 5% .

21
=
21
=1
21
=1
21
=1
21
24
A
24
A
24
A
24
A
24
A
=
1
=
1
=
A
=
1
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Fff 3% 2:

[*] heilbron.cpp

5 1 #include <bits/stdc++.h>
using namespace std;
const double pi=3.14159265358979323;

) / pi);

9 double g(double x)
10
11 double x1=pi / (sqrt(12*x)-2);
return 2*x1-x1*x1*x1/3-a / sqrt(x);
H

15 double sine(int n)
P

16 {
17 return sin(pi*n/188);

18 -}

19

20 int main() {

21 for (int i=3;i<=10@;i++)

22 {

23 double x=pi / (sqrt(12*i)-2); double np=pi / (sqrt(12*i-12*sqrt(12*i)+24) - 2);

24 a=((1-2%sin(x))*(2*np-np*np*np / 3)-(pi) / (sqrt(3*i)-1)+(pi*pi*pi) / (24*(sqrt(3*i)-1)*(sqrt(3*i)-1)*(sqrt(3%i)-1))) /
25 ((1-2*sin(x)) / (sqrt(i-sqrt(12*i)+2))-(1) / (sqrt(i)));

26 if (i<=54) a=0;

27 cout<<i<™ "g<ace™ "e<2*¥sin(x)<<™ "<«(1-2*sin(x))*g(i-sqrt(12*i)+2)<<" "<<g(i)<<endl;
28 }

29 return @;

39 -}

Jeie 5 —BURUHTEN n 91, @ 91, 2sinm, 1968, (1 - 2sin(n, )gln — (V120 - 2))r0

18, g(n) . 55 00iE B e AR L 10 [ 0
fEn <540, alr0. BEJS, TEDBIHE 1. 4 Thes 0 a BUH. XA MR R T 16 n < 54 BT

2sinn, > g(n)
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